Assignment — 1
Program -1

= int (input ("Enter a number: "))

153
Iteration 1:
153 > 0
digit = 3 (153 % 10)
n =15 ( 153 / 10)
=0+ 3 ** 3 = 27

Iteration 2:
15 > 0
digit = 5 (15 % 10)
( 15 / 10)
27 + 5 ** 3 = 27 + 125

Iteration 1:

1 >0

digit = 1 (1 % 10)

n=20.0 (1 / 10)

sum = 152 + 1 ** 3 = 152 + 1

armStg (n) :
sum = 0
orn = n
while (n > 0):
digit = int(n % 10)
n = int(n / 10)
sum += digit ** 3

if orn == sum:
print (orn,"is an Armstrong number.")
else:

print (orn,"is not an Armstrong number.")




armStg (num)

Output

=

nter a number: 370
70 is an Armstrong number.

nter a number: 115
115 is not an Armstrong number.

w

=



Program -2

= int (input ("Enter a number:"))

Initially nl = 0

=1
fabseries.append(nl) -> ['0']
fabseries.append(n2) -> ['0', '1']
nextnum = nl + n2 -> 0+1 -> 1
fabseries.append (nextnum) [('‘o', '1', '1']
while loop:

will execute till nextnum is less than or equal to n.
will not execute if nextnum is greater than n.

suppose n = 3
1. 1 <=3

nl 1

n2 1

nextnum =

fabseries

2 <= 3

nl 1

n2 2

nextnum =

fabseries

3 <=3

nl 2

n2 3

nextnum =

fabseries

fab(n) :
fabseries = []




nextnum =
ycount
ncount 0
if n == 0 or n == 1:
print (num, "is a Fabonacci number.
nl 0
n2 1
fabseries.append(nl)
fabseries.append(n2)
nextnum = nl + n2

fabseries.append (nextnum)

while (nextnum <= n):
nl = n2
n2 = nextnum
nextnum = nl + n2
fabseries.append (nextnum)

for num in fabseries:
if n == num:
ycount +=
else:

ncount -=
if ycount > O:
print( n," is a Fabonacci number")
elif ycount == 0 and ncount < 0:

print( n," is not a Fabonacci number")

fab (num)




Output

nter a number:233

33 1s a Fabonacci number
nter a number:190

90 1is not a Fabonacci number




